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No. of pages - 24 (M) 
PRE-BOARD EXAMINATION (2023-24) 

CLASS : X 
SUBJECT: MATHEMATICS (BASIC) (241) 

Time Allowed : 3 hours Maximum Marks : 80 
le; % 3 ?kaVs vf/dre vad % 80 

lkekU; funsZ'k& 

fuEufyf•r funZs'kksa dks cgqr lko/kuh ls if<+, vkSj mudk ikyu dhft,% 

(i) bl ç'u i=k esa 38 ç'u gSaA lHkh ç'u vfuok;Z gSaA 

(ii) ç'u&i=k ik¡p •.Mksa esa foHkkftr gS& •.M d] •] x] ?k rFkk ÄA 

(iii) •.M d esa ç'u la[;k 1 ls 18 rd cgqfodYih; ç'u rFkk ç'u la[;k 19 ,oa 20 vfHkdFku ,oa 

dkj.k vk/kfjr ,d&,d vad ds ç'u gSaA 

(iv) •.M • esa ç'u la[;k 21 ls 25 rd vfr y?kq mÙkjh; çdkj ds nks&nks vadksa ds ç'u gSaA  

(v) •.M x esa ç'u la[;k 26 ls 31 rd y?kq mÙkjh; çdkj ds rhu&rhu vadksa ds ç'u gSaA 

(vi) •.M ?k esa ç'u la[;k 32 ls 35 rd nh?kZ mÙkjh; çdkj ds ik¡p&ik¡p vadksa ds ç'u gSaA 

(vii) •.M Ä esa ç'u la[;k 36 ls 38 rd izdj.k vk/kfjr pkj&pkj vadksa ds ç'u gSaA vkarfjd 

fodYi nks&nks vadksa ds ç'u esa fn;k x;k gSA 

(viii) ç'u&i=k esa lexz fodYi ugha fn;k x;k gSA ;|fi] •.M • ds 2 ç'uksa esa] •.M x ds 2 ç'uksa esa] 

•.M ?k ds 2 ç'uksa esa rFkk •.M Ä ds 3 ç'uksa esa vkarfjd fodYi dk çko/ku fn;k x;k gSA 

(ix) tgk¡ vko';d gks] LoPN vkÑfr;k¡ cuk,¡A ;fn vko';d gks rks 22

7
  yhft,A  

(x) dSydqysVj dk mi;ksx oftZr gSA 
GENERAL INSTRUCTIONS: 
Read the following instructions carefully and follow them:  
(i)  This question paper contains 38 questions. All questions are compulsory. 
(ii)  Question paper is divided into FIVE sections - Section A, B, C, D and E.  
(iii)  In section A - question number 1 to 18 are multiple choice questions (MCQs) and question 

number 19 and 20 are Assertion-Reason based questions of 1 mark each. 
(iv)  In section B - question number 21 to 25 are Very Short Answer (VSA) type questions of 2 

marks each. 
(v)  In section C - question number 26 to 31 are Short Answer (SA) type questions carrying 3 marks 

each. 
(vi)  In section D -question number 32 to 35 are Long Answer (LA) type questions carrying 5 marks 

each. 
(vii)  In section E – question number 36 to 38 are case based questions carrying 4 marks each. 

Internal choice is provided in 2 marks question in each case-study. 
(viii) There is no overall choice. However, an internal choice has been provided in 2 questions in 

Section B, 2 questions in Section C, 2 questions in Section D and 3 questions in Section E. 

(ix)  Draw neat figures wherever required. Take 
22

7
  wherever required if not stated. 

(x) Use of calculators is NOT allowed.  
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[k.M&d 

[kaM d esa 20 iz'u gSa ftuesa izR;sd iz'u dk 1 vad gSA fn, x, fodYiksa esa ls lokZf/d 

mi;qDr fodYi dk p;u dhft,A 

1- ;fn HCF (96, 104) = 8 gS] rks LCM (96, 104) gS %  1 

 (a) 96 (b) 404 

 (c) 1248 (d) 2496 

2. cgqin ax2 + bx – c ds 'kwU;dksa dk xq.kuiQy (tgk¡ a, b, c okLrfod la[;k,¡ gSa  

vkSj a 0 ) gS %   1 

 (a) 
c

a
 (b) 

c

a
  

 (c) 
b

a
 (d) 

b

a
  

3. f}?kkr lehdj.k 3x2 – 6x + 1 = 0 dk fofoDrdj gS %  1 

 (a) 24 (b) –24 

 (c) 48 (d) –48 

4. fuEufyf[kr jSf[kd lehdj.k ;qXe ds gy gSa %   1 

 2x + 3y = –7 

 6x – 9y = 15 

 (a) dksbZ gy ugha (b) vifjfer :i ls vusd gy 

 (c) nks gy (d) dsoy ,d gy 
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SECTION-A 

Section-A has 20 questions, carrying 1 mark each. Select the most appropriate 

option from the given options : 

1. If HCF (96, 104) = 8, then LCM (96, 104) is :  1 

 (a) 96 (b) 404 

 (c) 1248 (d) 2496 

2. The product of the zeroes of the polynomial ax2 + bx – c (where a, b, c are real numbers 

and a 0 ) is :   1 

 (a) 
c

a
 (b) 

c

a
  

 (c) 
b

a
 (d) 

b

a
  

3. Discriminant of the quadratic equation 3x2 – 6x + 1 = 0 is : 1 

 (a) 24 (b) –24 

 (c) 48 (d) –48 

4. The following pair of linear equations have :   1 

 2x + 3y = –7 

 6x – 9y = 15 

 (a) No solution (b) Infinitely many solutions 

 (c) Two solutions (d) Only one solution 
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5. nks vHkkT; la[;kvksa dk egÙke lekioZrd (HCF) gS %  1 

 (a) 1 (b) 2 

 (c) 3 (d) 4 

6. ewy fcanq ls fcanq (4] &3) dh nwjh gS %   1 

 (a) 4 bdkbZ (b) 25 bdkbZ 

 (c) 5 bdkbZ (d) 7  bdkbZ 

7. lekarj Js<+h (A.P.) % 15] 12] 9] ------dk 20ok¡ in gS % 1 

 (a) –45 (b) 45 

 (c) 42 (d) –42 

8. ;fn fdlh lekarj Js<+h (A.P.) dk izFke in 7 vkSj bldk 13ok¡ in 35 gS] rks bl lekarj Js<+h 

(A.P.) dk lkoZ varj gS %   1 

 (a) 
7

3
 (b) 

3

7
 

 (c) 
4

5
 (d) 

5

4
 

9. vkd`fr esa ;fn DE||BC vkSj AD = 1.2 lseh] DB = 3.6 lseh vkSj EC = 3 lseh gS] rks AC dk 

eku gS %   1 

 

 (a) 1.2 lseh (b) 4 lseh 

 (c) 3 lseh (d) 2 lseh 
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5. HCF of two prime numbers is :   1 

 (a) 1 (b) 2 

 (c) 3 (d) 4 

6. Distance of the point (4, –3) from the origin is :  1 

 (a) 4 units (b) 25 units 

 (c) 5 units (d) 7  units 

7. 20th term of the A.P. : 15, 12, 9, ..... is :   1 

 (a) –45 (b) 45 

 (c) 42 (d) –42 

8. If the first term of an A.P. is 7 and its 13th term is 35, then common difference of this 

A.P.  will be:   1 

 (a) 
7

3
 (b) 

3

7
 

 (c) 
4

5
 (d) 

5

4
 

9. In figure, if DE||BC and AD = 1.2 cm, DB = 3.6 cm and EC = 3 cm, then the value  

of AC is :   1 

 

 (a) 1.2 cm (b) 4 cm 

 (c) 3 cm (d) 2 cm 
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10. ;fn ABC ~ DEF   vkSj A 47 , E 83      gS] rks C  gS % 1 

 (a) 47° (b) 50° 

 (c) 83° (d) 130° 

11. sin 30° cos 60° dk eku gS %   1 

 (a) 
1

4
 (b) 

3

2
 

 (c) 
3

4
 (d) 1 

12. ,d o`Ùk dh vf/dre Li'kZ js[kk,¡ gks ldrh gSa %  1 

 (a) 1 (b) 2 

 (c) 3 (d) vifjfer :i ls vusd 

13. 5 ehVj yach NM+h dh Nk;k 2 ehVj yach gSA mlh le;] 12-5 ehVj mQ¡ps isM+ dh Nk;k dh 

yackbZ (ehVj esa) gS %   1 

 (a) 3 (b) 3.5 

 (c) 4.5 (d) 5 

14. (tan2 45° - cos2 60°) dk eku gS %   1 

 (a) 
1

2
 (b) 

1

4
 

 (c) 
3

4
 (d) 

3

2
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10. If ABC ~ DEF   and A 47 , E 83      , then C  is : 1 

 (a) 47° (b) 50° 

 (c) 83° (d) 130° 

11. The value of sin 30° cos 60° is :   1 

 (a) 
1

4
 (b) 

3

2
 

 (c) 
3

4
 (d) 1 

12. The maximum number of tangents a circle can have : 1 

 (a) 1 (b) 2 

 (c) 3 (d) Infinitely many 

13. The shadow of a 5 m long stick is 2 m long. At the same time, the length of the shadow 

of a 12.5 m high tree (in m) is :   1 

 (a) 3 (b) 3.5 

 (c) 4.5 (d) 5 

14. The value of (tan2 45° - cos2 60°) is :   1 

 (a) 
1

2
 (b) 

1

4
 

 (c) 
3

4
 (d) 

3

2
 



X-MATHS-M 8 

15. vkd`fr esa] ;fn PA vkSj PB dsanz O okys o`Ùk dh Li'kZ js[kk,¡ bl izdkj gSa fd APB = 60°  

gS] rks AOP cjkcj gS %   1 

 

 (a) 120° (b) 100° 

 (c) 90° (d) 60° 

16. ;fn P(E) = 0.96 gS] rks P(E ugha) gS %   1 

 (a) 4.0 (b) 0.4 

 (c) 0.04 (d) 0.004 

17. fuEu caVu ds fy, cgqyd oxZ gS %   1 

oxZ varjky 0-10 10-20 20-30 30-40 40-50 

ckjEckjrk 5 7 6 8 4 

 

 (a) 10-20 (b) 20-30 

 (c) 30-40 (d) 40-50 

18. ,d csyu] ftldh f=kT;k 3 lseh vkSj mQ¡pkbZ 14 lseh gS] dk oozQ ì"Bh; {ks=kiQy gS % 1 

 (a) 396 oxZ lseh (b) 264 oxZ lseh 

 (c) 132 oxZ lseh (d) 42 oxZ lseh 
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15. If figure, if PA and PB are two tangents to a circle with centre O, such that APB = 60° , 

then AOP is equal to :   1 

 

 (a) 120° (b) 100° 

 (c) 90° (d) 60° 

16. If P(E) = 0.96, then P(not E) is :   1 

 (a) 4.0 (b) 0.4 

 (c) 0.04 (d) 0.004 

17. For the following distribution, the modal class is :  1 

Class interval 0-10 10-20 20-30 30-40 40-50 

Frequency 5 7 6 8 4 

 

 (a) 10-20 (b) 20-30 

 (c) 30-40 (d) 40-50 

18. Curved surface area of a cylinder, whose radius is 3 cm and height 14 cm is : 1 

 (a) 396 cm2 (b) 264 cm2 

 (c) 132 cm2 (d) 42 cm2 
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 ç'u la[;k 19 vkSj 20 ds fy, funsZ'k % 

 ç'u la[;k 19 vkSj 20 esa nks dFku gSa & vfHkdFku (A) vkSj dkj.k (R)A fuEu esa ls 

mi;qDr fodYi pqfu, % 

(a) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa vkSj dkj.k (R) vfHkdFku (A) dh lgh 

O;k[;k djrk gSA 

(b) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa vkSj dkj.k (R) vfHkdFku (A) dh lgh 

O;k[;k ugha djrk gSA 

 (c) vfHkdFku (A) lgh gS ijUrq dkj.k (R) xyr gSA 

 (d) vfHkdFku (A) xyr gS ijUrq dkj.k (R) lgh gSA 

19. vfHkdFku (A) : nks ozQekxr /ukRed iw.kk±dksa dk xq.kuiQy 2 ls foHkkT; gksrk gSA 1 

 dkj.k (R) : 196 ds vHkkT; xq.ku[kaMu esa vHkkT; xq.ku[kaMksa ds ?kkrkadksa dk ;ksx 4 gSA 

20. vfHkdFku (A) : ;fn 2 vkSj 3 ;fn fdlh f}?kkr cgqin ds 'kwU;d gksa] rks cgqin  

x2 – 5x + 6 gSA 1 

 dkj.k (R) : ;fn ,  ,d f}?kkr cgqin ds 'kwU;d gSa] rks cgqin x2 – ( + ) x +  ×  gSA 

[k.M&[k 

 [kaM [k esa 5 iz'u gSa ftuesa izR;sd iz'u 2 vad dk gSA 

21. f}?kkr cgqin x2 + 3x – 10 ds 'kwU;d Kkr dhft,A  2 

vFkok 

 ;fn cgqin x2 + 4x + 2a ds 'kwU;d  vkSj 2


 gSa] rks ‘a’ dk eku Kkr dhft,A 
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 Directions for Q.No 19-20: 

 In the question number 19 and 20, a statement of Assertion (A) is followed  

by a statement of Reason (R). Choose the appropriate options from given below: 

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 

explanation of Assertion (A). 

(b) Both Assertion (A) and Reason (R) are correct but Reason (R) is not the correct 

explanation of Assertion (A).  

 (c) Assertion (A) is correct but Reason (R) is wrong. 

 (d) Assertion (A) is wrong but Reason (R) is correct. 

19. Assertion (A): The product of two consecutive positive integers is divisible by 2. 1 

 Reason (R): The sum of exponents of prime factors in the prime factorisation of 196 is 4. 

20. Assertion (A): If 2 and 3 are the zeroes of a quadratic polynomial, then the polynomial is 

x2 – 5x + 6. 1 

 Reason (R): If , are the zeroes of a quadratic polynomial, then the polynomial is  

x2 – ( + ) x +  × . 

SECTION-B 

 Section-B consists of 5 questions of 2 marks each. 

21. Find the zeroes of the quadratic polynomial x2 + 3x – 10. 2 

OR 

 If the zeroes of the polynomial x2 + 4x + 2a are  and 
2


, then find the value of ‘a’. 
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22. ABC esa] ftldk dks.k B ledks.k gS] AB = 24 lseh vkSj BC = 7 lseh gSA sin C dk eku Kkr 

dhft,A 

vFkok 

 ABC esa] ftldk dks.k B ledks.k gS] ;fn 15 cot A = 8 gS] rks sin A dk eku Kkr dhft,A 

23. ml fcanq ds funsZ'kkad Kkr dhft, tks fcanqvksa (4, –3) vkSj (8, 5) dks tksM+us okys js[kk[kaM dks 

vkarfjd :i ls 3%1 ds vuqikr esa foHkkftr djrk gSA  2 

24- fuEufyf[kr caVu ds fy, ekè; vad Kkr dhft,A  2 

izkIr vad 0-10 10-20 20-30 30-40 40-50 

fo|kfFkZ;ksa dh la[;k 2 3 8 5 2 

 

25- vkÑfr esa] ;fn GE||CB vkSj GF||CD gS] rks fl¼ dhft, fd AF AE

FD EB
  gSA 2 
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22. In ABC, right angled at B, AB = 24 cm and BC = 7 cm. Determine the value of  

sin C.    2 

OR 

 In ABC, right angled at B, if 15 cot A = 8, then find the value of sin A.  

23. Find the coordinates of the point which divides the line segment joining the points (4, –3) 

and (8, 5) in the ratio 3:1 internally.   2 

24. Find mean marks for the following distribution.  2 

Marks obtained 0-10 10-20 20-30 30-40 40-50 

Number of students 2 3 8 5 2 

 

25. In figure if GE||CB and GF||CD, then prove that 
AF AE

FD EB
 . 2 
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[k.M&x 

 [kaM x esa 6 iz'u gSa ftuesa izR;sd iz'u 3 vad dk gSA 

26. fl¼ dhft, &   3 

 
2

2

2

1 tan A
sec A 1

1 cot A


 


 

27- ,d ikls dks ,d ckj iQsadk tkrk gSA fuEufyf•r dks çkIr djus dh çkf;drk Kkr dhft, %  

 (i) 3 ls foHkkT; ,d la[;k 

 (ii) ,d vHkkT; la[;k 

 (iii) 5 ls cM+h la[;k 

28. x-v{k ij og fcanq Kkr dhft, tks (2] &5) vkSj (&2] 9) ls lenwjLFk gSA 3 

vFkok 

 fl¼ dhft, fd fcanq (3] 0)] (6] 4) vkSj (&1] 3) ,d lef}ckgq ledks.k f=kHkqt ds  

'kh"kZ gSaA 

29- fl¼ dhft, fd 2  ,d vifjes; la[;k gSA   3 

30. fdlh o`Ùk ds ifjxr ,d lekarj prqHkZqt ABCD •hapk x;k gSA fl¼ dhft, fd ABCD ,d 

leprHkqZt gSA   3 
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SECTION-C 

 Section-C consists of 6 questions of 3 marks each. 

26. Prove that :   3 

 
2

2

2

1 tan A
sec A 1

1 cot A


 


 

27. A die is thrown once. Find the probability of getting:  3 

 (i) a number divisible by 3 

 (ii) a prime number 

 (iii) a number greater than 5 

28. Find the point on the x-axis which is equidistant from (2, –5) and (–2, 9). 3 

OR 

 Prove that the points (3, 0), (6, 4) and (–1, 3) are the vertices of a right angled isosceles 

triangle. 

29. Prove that 2  is an irrational number.   3 

30. A parallelogram ABCD is drawn to circumscribe a circle. Prove that ABCD is a 

rhombus.   3 
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31. ,slh nks la[;k,¡ Kkr dhft,] ftudk ;ksx 25 gks vkSj xq.kuiQy 156 gksA 3 

vFkok 

 nks Øekxr /ukRed iw.kkZad Kkr dhft, ftuds oxks± dk ;ksx 421 gksA 

•aM&?k 

 •aM ?k esa 4 ç'u gSa] ftuesa çR;sd ç'u 5 vad dk gSA 

32. fl¼ dhft, ;fn fdlh f=kHkqt dh ,d Hkqtk ds lekarj vU; nks Hkqtkvksa dks fHkUu&fHkUu fcanqvksa 

ij çfrPNsn djus ds fy, ,d js•k •haph tk,] rks ;g js•k vU; nks Hkqtkvksa dks ,d gh 

vuqikr esa foHkkftr djrh gSA   5 

vFkok 

 ,d prqHkZqt ABCD ds fod.kZ fcanq O ij bl çdkj ijLij çfrPNsn djrs gSa fd AO CO

BO DO
  

gSA fl¼ dhft, fd ABCD ,d leyac gSA 

33. ml lekarj Js<+h (A.P.) dk 31ok¡ in Kkr dhft, ftldk 11ok¡ in 38 gS vkSj 16ok¡ in 73 

gSA bl lekarj Js<+h (A.P.) ds çFke 10 inksa dk ;ksx Hkh Kkr dhft,A 5 

34. ,d f•ykSuk f=kT;k 7 lseh okys ,d 'kadq ds vkdkj dk gS] tks mlh f=kT;k okys ,d v/Zxksys 

ij vè;kjksfir gSA bl f•ykSus dh laiw.kZ Å¡pkbZ 31 lseh gSA bl f•ykSus dks ` 5 çfr 100 oxZ 

lseh dh nj ls isaV djus dk O;; Kkr dhft,A   5 

35. leqæ ry ls 80 eh- Å¡ph ykbV gkml ds f'k•j ls ns•us ij nks leqæh tgktksa ds voueu 

dks.k 30° vkSj 45° gSaA ;fn ykbV gkml ds ,d gh vksj ,d tgkt nwljs tgkt ds Bhd ihNs 

gks rks nks tgktksa ds chp dh nwjh Kkr dhft,A ( 3  ¾ 1-73 yhft,) 5 
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31. Find two numbers whose sum is 25 and product is 156. 3 

OR 

 Find two consecutive positive integers, sum of whose squares is 421. 

SECTION-D 

 Section-D consists of 4 questions of 5 marks each. 

32. Prove that if a line is drawn parallel to one side of a triangle to intersect the other two 

sides in distinct points, then this line divides other two sides in the same ratio. 5 

OR 

 The diagonals of a quadrilateral ABCD intersect each other at point O such that 

AO CO

BO DO
 . Prove that ABCD is a trapezium. 

33. Find the 31st term of an A.P. whose 11th term is 38 and 16th term is 73. Also find the sum 

of first 10 terms of this A.P.   5 

34. A toy is in the form of a cone of radius 7 cm mounted on a hemisphere of same radius. 

The total height of the toy is 31 cm. Find the cost of painting the toy at the rate of ` 5 per 

100 cm2.   5 

35. As observed from the top of 80 m high lighthouse from the sea-level, the angles of 

depression of two ships are 30° and 45°. If one ship is exactly behind the other on the 

same side of the lighthouse, find the distance between the two ships. (Take 3 =1.73) 5 
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vFkok 

 ,d 80 eh- pkSM+h lM+d ds nksuksa vksj vkeus&lkeus leku yackbZ okys nks •aHks yxs gq, gSaA bu 

nksuksa •aHkksa ds chp] lM+d ij ,d fcanq ls •aHkksa ds f'k•j ds mUu;u dks.k Øe'k% 60° vkSj 

30° gSaA •aHkksa dh Å¡pkbZ vkSj •aHkksa ls fcanq dh nwjh Kkr dhft,A 

•aM&Ä 

 •aM&Ä esa 3 izdj.k vk/kfjr ç'u gSa] ftuesa çR;sd ç'u 4 vad dk gSA 

36- ,d laLFkk us d{kk&X ds es/koh fo|kfFkZ;ksa dks Nk=kof̀Ùk çnku djus ds fy, ,d ijh{kk 

vk;ksftr dhA bl ijh{kk esa tks fo|kFkhZ 60» ;k 60» ls vf/d vad çkIr djsaxs mUgsa ` 2000 

çfr fo|kFkhZ ,d o"kZ ds fy, çnku fd, tk,¡xsA  

 ,d Ldwy ds fo|kfFkZ;ksa }kjk çkIr fd, x, vad fuEufyf•r gSa& 

izkIrkad 0-20 20-40 40-60 60-80 80-100 

fo|kfFkZ;ksa dh la[;k 5 8 11 4 2 

 

 mi;qZDr tkudkjh ds vk/kj ij fuEu ç'uksa ds mÙkj nhft, & 

 (i) fo|ky; dks laxBu ls Nk=ko`fÙk ds fy, feyus okyh jkf'k Kkr dhft,A 1 

 (ii) cgqyd oxZ varjky dh mPp&lhek fyf[k,A  1 

 (iii) fo|kfFkZ;ksa }kjk çkIr vadksa dk cgqyd Kkr dhft,A 2 

vFkok 

  fo|kfFkZ;ksa }kjk çkIr vadksa dk ekè;d Kkr dhft,A 
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OR 

 Two poles of equal heights are standing opposite each other on either side of the road, 

which is 80 m wide. From a point between them on the road, the angles of elevation of 

the top of the poles are 60° and 30° respectively. Find the heights of the poles and the 

distances of the point from the poles. 

SECTION-E 

 Section-E consists of 3 case based questions of 4 marks each. 

36. An organization held a test to provide scholarships to brilliant students of class-X. 

Students securing 60% or more than 60% marks in this test will be awarded a scholarship 

of amount ` 2000 each for one year. 

 The marks obtained by the students of a school are given below : 

Marks obtained 0-20 20-40 40-60 60-80 80-100 

Number of students 5 8 11 4 2 

 

 Based on the above information, answer the following questions : 

 (i) Find the amount of scholarship the school will get from the organisation. 1 

 (ii) Write the upper limit of modal class.   1 

 (iii) Find the mode of the marks obtained by the students. 2 

OR 

  Find the median of marks obtained by the students. 
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37- fç;adk ,d LVs'kujh dh nqdku ij xbZ vkSj ` 19 esa 3 isafly rFkk 2 jcM+ •jhnhaA fç;adk dh 

lgsyh fjrq us Hkh ubZ rjg dh isafly vkSj jcM+ ns[kus ds ckn `  31 esa mlh rjg dh 5 isafly 

vkSj 3 jcM+ •jhnhaA 

 mi;ZqDr tkudkjh ds vk/kj ij fuEu ç'uksa ds mÙkj nhft, & 

 (i) nksuksa fLFkfr;ksa ds fy, nks pj okys jSf•d lehdj.k fyf[k,A 1 

 (ii) ,d isafly dk ewY; Kkr dhft,A   1 

 (iii) 2 isafly rFkk 5 jcM+ dk ewY; Kkr dhft,A  2 

vFkok 

  isafly vkSj jcM+ esa ls D;k egaxk gS vkSj fdruk\ 

38- ehjk us ,d u;k ?kj •jhnkA ?kj dks ltkus ds fy, mlus cktkj ls dqN lkeku •jhnkA muesa ls 

,d Fkk xksy est+iks'kA ml est+iks'k ij 6 leku fMt+kbu cus Fks tSlk fd vkÑfr esa n'kkZ;k x;k 

gSA xksy est+iks'k dh f=kT;k 35 lseh gSA 
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37. Priyanka went to a stationary shop and purchased 3 pencils and 2 erasers for ` 19. On 

seeing new variety of pencils and erasers, her friend Ritu also bought 5 pencils and 3 

erasers of the same kind for ` 31. 

 Based on the above information, answer the following questions : 

 (i) Write the linear equations in two variables for both the situation. 1 

 (ii) Find the cost of 1 pencil.   1 

 (iii) Find the cost of 2 pencils and 5 erasers.  2 

OR 

  Which is expensive between pencil and eraser and by how much? 

38. Meera bought a new house. To decorate it, she purchased some items from the market. 

One of them was a round table cover. It had six equal designs as shown in the figure. The 

radius of the round table cover is 35 cm. 
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 mi;qZDr tkudkjh ds vk/kj ij fuEu ç'uksa ds mÙkj nhft,&  

 (i) ,d thok }kjk dsUæ ij cus dsUæh; dks.k dk eki Kkr dhft,A  1  

 (ii) f=kT;•aM AOC dk {ks=kiQy Kkr dhft,A   1 

 (iii) nh?kZ f=kT;•.M AOC dk {ks=kiQy Kkr dhft,A  2 

vFkok 

  ,d fM”kkbu dk {ks=kiQy Kkr dhft,A ( 3  ¾ 1-7 yhft,) 
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 Based on the above information, answer the following questions : 

 (i) Find the measure of the angle subtended by a chord at the centre. 1 

 (ii) Find the area of sector AOC.   1 

 (iii) Find the area of major sector AOC.   2 

OR 

  Find the area of one design. (Take 3  = 1.7) 
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FOR ROUGH WORK ONLY 


